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W4T ¥ 40 410 535 25 A
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(A)i% i (B)# it 4
(C)'% & (D) #% -k
45 (CaHe) bk § ¢ R M g AL 5 SR F AR
(A) 44 g (B) 88 g
(C) 132 g (D) 176 g

P T A p Fa s (kI mol) AW s
H> (-286) ~ CH3OH (-726) ~ CH4 (-890) ~ C2H2 (-1300) » R ™ 7] i@
AR RMPCH LS 2

(A) 85 H (B) 325 CH3OH

(C) 325 CHa4 (D) 26 % C2H>
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(A)F ~ 3% ~ & (B)F ~§ ~ - § &

C)x ~% ~ & (D) ~§ ~ - 5 i@

FECFR SR FROTAZEF M P E TR G AL 2

(A) CO2 (B) CHa4

(C) CO (D)= % - # =
LR ERRT LG OFACEFZE F DS R

(A) 1/16 & (B) 1/4 %

(C) 16% (D) 47

L TR MM R gt o R R
(A4 # & & 2 7 11 8 X A Ak gE
(B)4r » B ik 4T ¥ 14 16 %5 g AT oK 0
(C)d Al 4 F 2 #4208 » ¥ % NaOHka iz & 2
(D)4 21 F 5 2 #F7g 4 22 > 7 * NaCl-kig iz £ 4

.25 g% 1t 43 >+ 100 gk @ oo —Ef‘ﬂ—ﬂp/’}'/}éfﬁvw'l‘?
(A) 20% (B) 25%
(C) 40% (D) 50%
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9. ¥ E T 0 X F ML B4 1 atmPF > 100 R T B RZMAB L F
W5 mL> R[> kP 247 MBRA %52 atm> Pl2007% -k i 3 2
K i AR TR
(A) 2.5 mL (B) 5 mL
(C) 10 mL (D) 20 mL
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(A) + L= Si>Al>Mg> Na
(B)f‘w M8 a ¢ Kr> Ar> Ne> He
(C)zt & B F>CI>Br>|
(D)£ B = : Li>Na>K>Rb
11. =50 % B NaCl i & 4 chkcit > ® & B3 ?
(A)z 3=+ 1 &% (B)%‘rgg 5/%’?;4)3211/5-:'&
(€)% #-% (D)% f ™ 7 ¥ 2
12. T?l]l?-ﬁ%{%ﬁ?&ﬁ}%ﬁﬁ;ﬁjﬂ%?
(A)F T (B)F ks # ik &
(C)E & (D)F Jis 4 1 &

13. % N2@g) + 3H2(g) 2 NHa(g)+ 92 kJT #FF J& 5 ¥ > 35 4 T 7| i@ 38 )
% 0 ¥ i & 4 NH3H 4 ?
(A F R A (B)+e » i M
(C)R # 3 *e (D)% f# #
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B)yrs ¢ ~ad

D)s ¢ ~ =4

15. ©25°C » pOH =4hF i3 ik > T 71§ M 23 i ot o & A 7
1

(A) [H']=10"*M (B) [OH"] =101 M
(C) 5 pe itz i (D)v # =4 7 R A%E
16. ™ # & 5% a MnO4 (ag) + b C2047 (aq) + € H'(aq) = d MN*"(aq) +
e COz(g) + FH20) T 76 »a~f5 & . Bl T 55 BTk
i A
(A)a=>5 (B) b =2
(C)c=28 (D) e = 10
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17. &3 B REF K Y B E T PAE~Z > 7 L RPA X H8?
(A)#= (B)#k
(C)& (D)4
18. 4w i T % A AN 2 R R gl AT P L f e R A
FleEid g Trlgez e fiy PP o5 MR HSRD
(A) V205 (B) V203
(C) VO: (D) VO
19. 7 5] 4 B ki rifg’rm ;fiﬁ B 7
(A) C1~Cs e *»‘f ¥R LG M
B)Z & i F A4 35
(C)# BESE A B3 4e @ B 4o
(D)t % ** ok
20, T A e 2 A WA F F h 20
(A)R &K (B)*r # & f& ¥ s 4T
(C)~ 4 it i 3 (D)# - ~ ji& 5 K
21 IR 3 R PP AR L PF o T AR K L E R R
(A)Ed 7 i@ A% 2 o d (B)izd F AR Fd
C)E? r sz 84 (D)iF » @ fkdn 7 A & 4 d

22. T A G M AT R E & Y B At ’f?-%’é:%g%?
A)EsF* A FiRWALAIRFERZRDE E
B)if =g & F B3] #cB(T - =iy
C)% A EF 7 MEIE Ll H

(D)zk 3l & 7 7 a0 BB FH TR
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23. # e B 300mLE6MET gk o § £ £1.80 £ F A F kA
5 98% vk i f& (H2SO04) 7 ° B H & = :

98g/mol)
(A) 50mL (B) 100mL
(C) 150mL (D) 200mL

24. 7~ 40.0 5 7NaOH3 »* -k @ e @l & 250mL s » £ P~ 1 25mL 4 -k #F
# 1 500mL > Rl& S NaOHZ iz o f## ¥ 2 )k & 5 #®? (NaOH :

40g/mol)
(A) 0.0002 M (B) 0.008 M
(C) 0.20 M (D) 8.0 M
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25. B 0 WRip k0 T Al et o B3R
(A)# 7 i # 4o » 5 B caph & d P 0 3 SipHE B 0 1)
B)A+T % ¥ A * e kAR RapHE s 2433 5o 4
(C)3# trig it 5 % fe 82 % RAT 77 & 518 &% > 4o HCI+NHWCI3 it
(D) i3 i % 55 b 22 B ¥ drft 2 B 452 & i & i 4o NHaOH +

NH4Cl% %

26. ¥R R R 2 R B R A K He(Ksp) » T Pl P F L A7
(A) Fe(OH)seKsp=[Fe3*][OH"]
(B) Ksp& ¢ % B & %
C)F e k? thad A @+ B ERLFTREHF | EKpEF R ¢
A 2K
(D) & & AgClKspt Agl= » #& AgClhi3 f2 B v Agl-]

27. % = BB g F amit PR &k 4 » BMHEKOH & NaOH %
R B EBREDONKRP 5P
(A) HgS (B) CusS
(C) Bi2S3 (D) As2Ss

28. % = BB A F Ak 4o LE hNaFH > ¥ 8 NH4SCN chip i &
frizie A2 EI ESRF DR F LW
(A) Co?* (B) Mn?*
(C) Ni?* (D) Fed*

29. I 3 F NOs FE3ni® B ¢ 4v » FeSO43 f2 15 » £ % % 4 » }E H2SOu4
AR g IR e 7]?;@_1& % ?
(A)F ¢ i 5
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(C)e = ¢ 3% (D)= # ¢ ik

30, $ T dcHp B 0 T A R K 3 T Y
(A)H TF L2 ¥ & = Plié%%%é{%fa e WL
(B)i # Hf *c Bl Lih=x ¥ M ° 3 LE L NP
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31.7~1.32505 th % & -k B fL 4 (Na2COs3)fie @l = 250mL -k i3 % {8 o
Be I 50mbLc ~ 48355 ¢ £ 4 » 25mLend ok o 0 R ik B 9HCLA
Pt /[F 3 '&% z %E& ’ HCl/p e * 307 25.00mL o Rt K "T’HC|/Fy T
A E B2 EAR 5 @ ? (Na2COz : 105.99g/mol)
(A) 0.100 M (B) 0.150 M
(C) 0.200 M (D) 0.300 M

32. % 0.100M 5 NaOH 1% # /3 % jf L 10mL10.100M s f& i3 i ¥ > § JF
S AT L S
(A)d % ¥ 8 ficfp ¥ (B) NaOH 1 % 73 iz ch* £ 5 10mL
(C)/]% Li' tx%ﬂé’:/%“n A e (D)? iEor e %ﬁié #‘lﬁ‘g‘f']

33.- % 7 Na2CO3# NaHCO3i® £ # # £ 2.005 » * 0.500M:HCIH& &
BRE GBS A R XA R A4 AP F 4~ 10.00mL
EH - ZHE LT AR LA A FE 4~ 20.00mLiE F -
Gk B e T AE I P F L A? (Na2COs: 105.99g/mol - NaHCOs
84.01g/mol)

(A) Na2COsziE &2 7 4 ¥ & 26.5%
(B) Naz2COssh € € 7 4 ¥ 5 53.0%
(C) NaHCOseh & £ 7 4 % 5 10.5%
(D) NaHCOs:h & £ F 4 & % 42.0%

34. B v B & L 49 (KMnO4)iF 2 iz » T 7l it o 4 4 2% 7
(A) KMnOasi% i § - 4 %% » &%} ffz & 5UP 5
(B) KMNOui3 it 5 iR % ¢ » f RPET 3 § ¥ sudy 7= &l & 2] 874 8
(C) KMnOg4i3 % @ * T F * Na2COsk i 7 = T
(D);?, 3+ g;g&tgg it E'—ECKMHOM}? T_EYOFH £ fik % H2S04

35. M 2v ok (l)if T2 > T Akt R H oA 7
(A)B #5 45 7 A7 12L& B GE T R ¥
(&ﬁ%ﬁﬁ%ﬁ%%ﬂ%,;ﬁﬁ%J*@ﬁ%“
(C)® ¥ £ F %2 (lodometry)® > &K # #g 7 A e F LW A~
(D) Na2S203# # 73 & % * KlO3iF & & 2_#

(A) Liebig:z (B) Mohrz
(C) Volhard:z (D) Fajans:z
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37. M EDTAF %2 » T Fldcit o 4 4 5 0
(A)}\Egﬁi/ﬂ ‘LB:“? ‘%3-—1-,/\”,{7;}-90% é:-]ﬁh r}c;
(B) ¥ #4v » if § m.@#rﬁflj\fﬁ_‘&ﬁ@; f%g’f’!—l%
(C)# * & /45 v # EBT(Eriochrome black T) g ¢ % it 2| ¥ % g
(D) EDTA% & Fap > % & pF > B ¥ B gt 31: 1

38. B 3t &k kR 2 T %R o "5'1%3:_*&??’—‘5@%?
(A)ﬁ?‘ s R PP %ﬁ’mc,\ kX g e H ok >
(B)- % B =~ s fT b & T B LP}.Jé
O F R ERPYTF* 5 T3 i
(D) == & Zf % 2 33 J\iv’% £ 7 E K L0k T

39. i bk R R A A B M i LT AR K ?
(W& B (B)F % ¢ W

40 B A 4k 0 T Al et X D AR 2
(A)3 ' 4+ cha A 33 g FRE
(BYGCeh# & 4p % * § # 2 % #
(C)ﬂ?“/ﬁ’g’ﬂiﬁ“lfﬁgﬂ/ﬂ\ﬁm.f\%
(D)™ FI* % & ff i 5 AL & A7 h ik 45



